TNPSC GROUP - I MAIN 2021
PAPER - I: UNIT - III
GENERAL MENTAL ABILITY
SYLLABUS

STATISTICS
Conversion of information to data - Collection, compilation and
presentation of data - Tables, graphs, diagrams - Parametric

representation of data.

Reference Book: State Board School Book 9th & 10th(Mathematics)
11th Standard (Statistics)
Appolo Course Material
Gurusamy (Tamil Version)
Elementary Statistics (A.K. Sharma)

QUANTITATIVE APTITUDE

Analytical interpretation of data - Percentage - Highest Common Factor
(HCF) - Lowest Common Multiple (LCM) - Ratio and Proportion -
Simple interest - Compound interest - Area - Volume- Time and Work -
Probability.

Reference Book:
Quantitative Aptitude - R.S. Agarwal
Samacheer School Book: 7th & 8th Std Maths [Life Mathematics,
Measurements]
Samacheer School Book : 9t Std Maths [Probability & Mensuration]
Samacheer School Book: 10th Std Maths [Probability & Mensuration]
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COMPUTER TECHNOLOGY

Basic terms, Communications - Application of Information and
Communication Technology (ICT) - Decision making and problem
solving - Basics in Computers / Computer terminology.

Reference Book: Appolo Course Material,
State Board School Book 11t std. Computer Volume - |

School Book:
7 OLD 3 21,22,23
Percentage 7 NEW 3 21,22,2.3
8 OLD 3 1.1
8 NEW 2 1.1
6 NEW 2 3.1,3.2
7 NEW 3 2.3
Profit & Loss 7 OLD 3 2.4
8 NEW 2 1.1
8 OLD 3 1.1

General Mental Ability Questions Analysis - 2019

2019 Grp I | Quantitative | Statistics Information Total

Main Aptitude Technology Marks
=50

10 Marks 2Q 1Q - 20

(2 out of| 1Q(G+))

3)

15 Marks 3Q - - 30

(2 out of 1Q (7.5 +7.5)

3)
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General Mental Ability Questions Analysis - 2017

2017 Grp I | Quantitative Statistics Information Total
Main Aptitude Technology Marks
3 Marks 7Q 1Q 2Q 30
8 Marks 3Q 1Q 1Q 40
15 Marks 1Q - 1Q 30
Total 60 11 29 100
Marks

PERCENTAGE WORK SHEET

Introduction:

The fraction with its denominator 100 is called a Percent.

e The word 'Percent' is derived from the Latin word 'Percentum/,
which means "per hundred' or 'hundredth' or 'out of 100'.

e Percentage also means "percent'.
e Symbol used for percent is %

e Anyratio x:y, where y =100 is called 'Percent'.

: X
To express x% as a fraction : We have, x% = —

100
Thus, 20% = £=l;48%=ﬁ=2, etc
100 5 100 25

To express % as a percent : We have, %:(%xlooj %.

Thus, 1 1><100 %=25%;O.6:£=§= §><1OO %=60%
4 \4 10 5 \5
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1. It the price of a commodity increases by R%, then the reduction in
consumption so as not to increase the expenditure is

{(moR 5 xlOO}%
+

It the price of a commodity decreases by R%, then the increase in
consumption so as not to decrease the expenditure is

{(100R ) xlOO}%

2.  Results on Population: Let the population of a town be P now and
suppose it increases at the rate of R% per annum, then:

1. Population after n years = P(1+ %)

P
1+i
( 100j

3.  Results on Depreciation : Let the present value of a machine be P.
Suppose it depreciates at the rate of R% per annum. Then:

2. Population n years ago =

1. Value of the machine after n years = P (1—%)

kP
1. R
&5

4. If A is R% more than B, then B is less than A by

R x10

| (100+R) |

If A is R% less than B, then B is more than A by
- -

| (100-R)

2. Value of the machine n years ago =

0%

%100 |%

i. If we start with a quantity A and increase that quantity by x%, we
will get the increased quantity as,

I=[1+-2 |A
[ 100)
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If we start with a quantity A and decrease that quantity by x%, we
will get the decreased quantity as,

D= (1—LJA
100

Given any two numbers, if one of them is increased or decreased by
x% and the other one is increased or decreased by y%, then the
product of the number will be increased or decreased by
(x+ y+—%j%. Use ‘negative’ sign for decrease and assume

‘decrease’ if the sign is negative.

Profit and Loss

Cost Price (C.P)
The amount for which an article is bought is called its Cost
Price (C.P)

Selling Price (S.P)
The amount for which an article is sold is called its Selling
Price (S.P)

Profit or Gain

When the S.P is more than the C.P, then there is a profit or
gain.
Therefore, Gain/Profit =5.P - C.P

Loss
When the S.P is less than the C.P, then there is a loss.
Therefore, Loss = C.P -S.P

It is to be noted that the profit or loss is always calculated on the cost
price.
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Formulae:

i. Gain or Profit% = (Pcr:olilt

xlOOj%

ii. Loss% = (LOSS xloo)%
CP

110,
iii. 5.p, = QO0FPrOi%) o p oy cp=[— 10 __|sp
100 100 + Profit%
_ 0,
iv.g.p= L00-LoS%)  cp (orycp=__ 190 sp
100 (100 — Loss%)
Discount:

In order to increase the sale and also to clear the old stock during the
month of Aadi and festival seasons, shopkeepers offer a certain
percentage of rebates on the marked price of the articles. This rebate
is known as discount.

Marked price

In big shops and departmental stores, we see that every product is
tagged with a card with a price written on it. The price marked on it
is called the marked price.

Based on this marked price only, the shopkeeper offers a discount of
certain percentage. The price payable by the customer after
deduction of discount is called the selling price.
That is, Selling Price = Marked Price - Discount
e By selling x articles, if one gains the cost price of y articles, then the

profit % = (%xloo) %.

e By selling x articles, if one gains the selling price of y articles, then

the profit % = ( y xlooj %.

X=y
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If the cost price of x articles = selling price of y articles, then profit =

(X_yxlooj%.

\'

If the answer is negative, then it is treated as loss.

If there are 2 successive discounts of a % and b % respectively, then

S.p :[1—ij (1—L)x M.P
100 100

Single discount equivalent to 3 successive discounts of a%, b% and

c% respectively :{1—(1—ij(1—ij(l—i]} x 100%.
100 100 100

Overhead Expenses: Some expenses like repairs, transportation and
labour charges incurred are included in the cost price and are called
as overhead expenses.

Goods and Services Tax (GST): The goods and services tax (GST) is
the only common tax in India levied on almost all the goods and the
services meant for domestic consumption.

Express 6% as a percent

6% 0 FHAISHNS LOTBBIS.

Solution:
1 25
4 4
4 multiplied by 25 gives 100
25x25_625_ .0
4x25 100

Express 233 % % as a fraction.
233 %% o eTenoTs oTHmIs.

Solution:
233l% = 7—00%
3 3
700 7
3x100 3
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Find the value of 0.75% of 40 kg.

40 #HGeor &@gmbed 0.75% srewiss.

Solution:
0.75% = 97>
100
0.75% of 40 = = 272,40
100
= i=0.3
10

0.75% of 40 kg = 0.3 kg

75 students from a Government High school appeared for S.S.L.C.
examination. 72 of them are declared passed in the examination. Find

the percentage of students passed.

T o o wipmevliueralenwd GCaibgh 75 wrewauTdeT 10 b eu@GLILS
Gxpitaled UMIGOUBBeTT. SlauTdeisy 72 GuT Gaialed BaTFd GUBBHTH
SlalsslLL [BelTendl  eeled, GHTedd OumB wrealTHellar FHalhHmBHDH
BTE0T6)LD.

Solution:
Total number of students = 75
Number of students declared passed = 72

Percentage = %xlOO%

=4 x100%
25

=24 x4%
=96%.

An alloy contains 26 % of copper. What quantity of alloy is required to
get 260 g of copper?

R o Borasd sevemal 26% SHMOTHmBE OdTewiGereng. 260  Symibd
STOTHMSL OUB 61hdH Dlee] 2 Georsd Hevenal BHemeulILBHBSHI?

Solution:
Let the quantity of alloy required be Q g
Then 26% of Q =260 g
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26
— xQ =260
100 Q g
260100
Q= 26
26000
Q——26 g
Q=1000g

Therefore, the required quantity of alloy is 1000 g.

During Aadi sale the price of shirt decreased from X 90 to X 50. What is
the percentage of decrease.

OHeSHHeNEnLIY alBumeaulaiCUTs @@ Flenlule alemed X 90 Bedwmba I
50 ouapdh GOBHSHH 60, GHmmalear FHaiHD elester?

Solution:

Original price = the price of the shirt before Aadi month
Amount of change = the decrease in the price = 90 - 50 = X 40
— Amount of change 100

Therefore, the percentage of decrease —
Original amount

= 40 100-400
90 9
= 1420
9

The income of a person is increased by 10% and then decreased by 10%.
Find the change in his income.

@ pufer eumomend 10% oFsfssiu G Ung 10% GoBoHBILGHBS.
oT6aNlen, SIQUHEDL I QU(HLOTEISHH6D GBLIBLD OTBMSHMHS HTEWISH.

Solution

Let his income be X x .

After 10% increase, income is X x + 0 x=@(or)gx
100 100 10
Now, after 10% decrease, income is X 1x_ 10 f1lx
10 100\ 10
. 11x 11x 110x-11x 99x
1.e — = =Rs.
10 100 100 100
. .. o _ 9% x
Net change in his income = X = —=—
100 100
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X

Percentage change = 100 ,700=1%

X
That is, income is reduced by 1%.

In a leadership election between two persons A and B, A wins by a
margin of 192 votes. If A gets 58% of the total votes, find the total votes
polled.

Qb Hwevamenwsdh BCHTHOHBEGWL BxThedsd A wBmd B Hdwu B
pUTHeMled A giemeuT 192 and@set albHumgsHed Oeumns  QUBISMTT.
CTHH ansGdHereo A  spemeuT 58% i QUBIBBTT  eTefled, LIFeuTent
QLTSS UTHGHN6NH BHTCIIS.

Solution:

Let the total votes polled be x .

Votes polled in favour in A =58% of x = ig—;

Votes polled in favour of B = (100 - 58) % of x = 42% of x = %
Given, Winning margin A- B =192
58x  42x

That is, - _—"-192
100 100

= 16_X=192
100

= X:192x@
16

x = 1200 votes

72% of 25 students are good in Mathematics. How many are not good in
Mathematics?

25 rewautdefled 72% GuT semidll LML GHeL HBeDOWITETOUTHENT. Bl
LML $FH60 HmenowiBCmT e1dHement GuiT?

Solution:
Percentage of students good in Mathematics = 72%
Number of students good in Mathematics = 72% of 25 students

Number of students not good in Mathematics = %x 25 =18 students

Number of students not good in Mathematics =25 -18 =7

A man bought an old bicycle for ¥1,250. He spent ¥250 on its repairs. He
then sold it for ¥1400. Find his gain or loss%.
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Q@ BUT @@ umpuw WFHeauewngenwt I 1,250 &5@& UTHRIAIT.  DIHM6TF
gmiupss I 250 GFewe OFuimtr. oeut, Sipomer I 1400 &g elBp.
Slauflal BeUTUHMSB DIVVH! BL L HDHDH HT6HISb.

Solution:
Cost Price of the bicycle =¥1,250
Repair Charges = 250
Total Cost price = 1250 + 250 = ¥1,500
Selling Price =¥1,400
C. P >S.P. there is a Loss
Loss = Cost price - Selling Price
= 1500 - 1400
=100
Loss =¥100

Loss% = %xloo
CP

~ 100
1500

x100

= 6§(or) 6.67
Loss% = 6.67

A fruit seller bought 8 boxes of grapes at ¥ 150 each. One box was
damaged. He sold the remaining boxes at ¥190 each. Find the profit /
loss percent.

m up elwrurf 8 Quily ST egsmen, @m Oully IS0 ea@m aisd
UTRIGSeT. 9IFHed e Oully FHmlews opd  aIGFBSEH.  BH(WeiTen
Quiysemer qm Oully 90 awms almevdd oIBdHprr. Seomu / BHUL
FHNHHMBD HTEWIH.

Solution:
Cost price of 1 box of grapes =150
Cost Price of 8 boxes of grapes =150 x 8
=31200

Number of boxes damaged =1

Number of boxes sold =8 - 1

=7

Selling Price of 1 box of grapes = ¥190
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Selling Price of 7 boxes of grapes =190 x 7
=¥1330
S.P.> C.P. there is a Profit
Profit = Selling Price - Cost Price
=1330 - 1200
=130
Profit =130

Profit % = Pro;'t «100
130

= x100
1200

=10.83
Profit% = 10.83

12. Sara baked cakes for the school festival. The cost of one cake was 5.

She sold 25 cakes and made a profit of ¥11 on each cake. Find the selling
price of the cakes and the profit Percent.
R uetefuler eliptalpasrsd  gngm, Gséd  OQFuismer. e  Bsbdler
ol_ssalemev I 55 o, o6l @eltaunm Gasdmsuld Al ReoTusHBG
aIpdprer. 25 Cas@demen alBBl(HHSHTL alBLmeT  allenevenWLD B60mL
FHANHSHMBWID HT60016.

Solution:
Cost Price of 1 cake =3¥55
Number of cakes sold = 25
Cost price of 25 cakes = 55 x 25 =¥1375
Profit of 1 cake =¥11
Profit on 25 cakes =11 x 25 =3275
S.P. = C.P + Profit
= 1375 + 275
=1,650
=31,650

Profit % = Pro::t x100
275

1375
=20
Profit% =20

x100

13. A man sells two wrist watches at ¥594 each. On one he gains 10% and
on the other he loses 10%. Find his gain or loss percent on the Whole.
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B[H MBSBQBTIRIG6T alteuraiempud 594 6@ @meuT IBBTT. Seleury
alppgded @amiled 10% Seorupd, wBmalesd 10% BLLAPD DiuBHES

gBULL . OTHHHHL DlaUHHE GBULL EeOTUD SIeV6VH BLLLD FHAIHLD
SBITGITRYLD.

Solution:

Given: S.P. of the first wrist watch = ¥594, Gain% = 10%
C.P. of the first wrist watch = Lo_xs.
100+ profit%
__ 100
(100+10)
= 100, 594540
110
Similarly, C.P. of the second watch on which he loses =10% is
_ 100
= _— —  xS.P.
(100 — Loss%)
=100 594-199 504_g60
(100-10) 90
To say whether there was an overall Profit or Loss, we need to find the
combined C.P. and S.P.
Total C.P. of the two watches = 540 + 660 = ¥1,200
Total S.P. of the two watches = 594 + 594 = ¥1,188

Net Loss =1,200 - 1,188 =¥ 12

Loss 100
P

Loss% =

12 100=1%
00

A shopkeeper allow a discount of 10% to his customers and still gains
20%. Find the marked price of an article which costs #50 to the
shopkeeper.

PMH BOLSBTIT HIT aUTgHdSWITNTHEDSG 10% Hemenpuy HhHib, 20%
Beomd L FEBIT. @ GuThelledr o eutewio  afemev T 450  ereriev,
SILOUTmHefler @SS alemevenuid SHTEmIS.

Solution:
Let M.P. be 100.

Discount = 10% of M.P

10 ot MP. = 29 %100
100

100
=310
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S.P. = M.P. - Discount
=100 - 10 =390
Gain =20% of C.P

= 20 450=%90
100

S.P.=C.P + Gain
=450 + 90 =540
If S.P. is VO, then M.P. is T100.
When S.P. is ¥540.

M.P. = 240100 _ #4600
Teh M.P. of an article = ¥600

A trader buys an article for 1,200 and marks it 30% above the C.P. He
then sells it after allowing a discount of 20%. Find the S.P. and profit

percent.

o  olwrumf  ¢m Ourmenen U200 &a@ — eunmieoni.

Llei  Digpest

lLssalmedd Buwsd 30% 2 wisHd, GNHd el UHHMT. HBE
20% seienLy CaTHHSH IBHBIT. elefed, alBUMmET 6leded LBBID E6VTL

FHIBHLD HITCUI.

Solution:
Let C.P. of the article be 100
M.P. =30% above C.P. =130

If C.P. is 100, then M.P is = 130

When C.P. is 1200, M.P = %:1560

Discount = 20% of 1560 = %x1560=312

S.P. = M.P - Discount
1560 - 312 =31248
Profit=S.P-C.P

= 1248 - 1200 = ¥48
Profit% = Profit
C.P

. x100=4%
1200

x100
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5 Mark Questions

Shyam's monthly income is Rs. 12000. He saves 1200. What percent of
savings to his expenditure.

afdwmder wrg aumorend ep 12,000 geut ap 1200 & GaFHsHmri. elailed
Slurgl CFI ek CFevallsd 6T6laU6Te| FHATHLOTGLID?

A team played 25 matches in a season and won 36% of them. Find the
number of matches lost by the team.

P UBUSHO @B G 25 Gumiyser eolememumGdma. oiFHe0 36%
Gleumsns| CUBISBSI. DbhSHD & GxpmevalweL HS Guim 19 serfleoT
616U 6001 BN HEMU!  BHITEHI.

An alloy consists of 30% copper and 40% zinc, and the remaining is
nickel. Find the amount of nickel in 40 kilograms of the alloy.

am 2 Bors sevewaiuied 30% Ggybd wipd 40% HSSHTHIPD  BHID
Pasauld o etengl erafled 40 HBeum eremL_ujeiien obdH 2 BGeurd Heveneauuied
HEHHE06T  SHI6T6| 6160160 ?

A shop keeper bought 20 bananas for 100. 4 bananas were rotten. He
sold the remaining bananas at the rate of 6 per banana. Find his gain or

loss%.

RH BOLSBMPT 20 euTenplILpBIGemeT ¢h 100 &@ UTRIGHBIT. DiFed 4
LILOMIG6ET SISl L 6or. LBSH(LP6ITeN LIDWMIGM6NT, @ LIPWD ah 6 6lel alBmTey,
ST DIEOLUJD B60TLILD DI6V6VH! HAJ. FHATHID 61611616167

The cost price of 16 pens is equal to selling price of 12 pens. Find gain

percent.
16 Guenmdseflelr esummiSwaleney 12 Gueméseaier alBmealenevdE&F  FLob
aTelled @V FHAIHID 61611616167

7.5 Mark Questions

Deepa purchased 10 shirts at the rate of Rs.2000 each and sold them at
a profit of 5%. If the customer has to pay sales tax at the rate of 4%, how
much will ten shirt cost to the customer?

@aleureiipd  ap 2000  elewevuteien 10  FlUewLdemen HUT  GUTHIESGUITT.
SluBens 5% TuSHHBEG aIBBIT.  eumgdhemaswtent 4% elBuener eurfl
0Fa0IHHCouetiHOLeTI0  EeIaTHMBUTINHEG UHB FLenLuler  allenev
oT6uTe0 BTG ?
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A tank can hold 400 litres of water, At present it is only 40% full. How
many litres of water to fill in the tank, so that it is 75% full?

@  Hewiewim  OFHTguimerg 400 LT Hewiewien] DHIGT CHTEITEHID
sBeuTgd 40% sauieniT 2 _senGsaiey 75% Hewieniyns OTHBB  elelaleNe)]
O Leny miFtin Geuemi(hLd

Pandian and Thamarai contested for the election to the panchayat
commitee from their village. Pandian secured 22,968 votes which was
44% of the total votes. Thamarai secured 36% of the votes. Calculate

RH  HITDSHe0 Geul LTenTHenTerr UTERIQUIST WOBMBID ST  E(HeU(HLD
oarrm’ §  1AIBSH BHTHedev GuTLiguil LeT. oiged  umewnguiest 22968
ATSGB6T QUBBTT. B& OTHEH amsgGaefes 44% Su@b. FHToemy 36%
AUTEHGH6T OLIBMITT. 6160760

(i) The number of votes cast in the Village
AUTHG DleMGHHeUTHN6T 6T60T60NHMB 61611616167

(ii) The number of voters who did not vote for both the contestants.
B HUHBSID TG DIeMbBTHEUTHT60 6160T601SHND 6161161616 ?

(iii) The margin of votes win by Pandian

LITGWTIQUIGHT  6TalGUETe UTHh@ alSHHWLTFSHHL Geumns GLIBBITT
If the numerator of a fraction is increased by 125% Denominator of the
fraction is increased by 50% it becomes i—z . Find the original fraction.
@@ LataddHer 0s1@d 1oBmid uGdHser wepGuw 125% wmpid 50%
OIFFHMHSILGLOCUTH  HewL G LgHuwl  Lleiterid f—z 6TET60 . GuoTeMLDUITGOT

LN GOT6OTLD  6T60T60T?

10Mark Questions

A man sold two cycles Rs. 16800 each. He sold one at a gain of 20% and
other at a loss of 20%. Find his gain or loss% in the whole transaction.
Q@b Welder B WHealangsmen @elbeautaimpid p 16800 erems  alensouised
aIBABIT. @B WHeuewigenws  alIBUSET  cpeold  SeuT  20%  eomL(IpID,
BemTEIems alBuBeT cpeold 20% HOGL (IPID SHIWLBBIT 6Teled GLOTHBHLOTH
BrewienL WD  aIBUSHET  (PeILD  DUT DIWLUID BTl (DI6V6VGEI)  [HORL
FHAUSID 61611616167
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A water heater is sold by a trader for Rs.10502 inducing GST at 18% and

11% profit. Find the M.P. of the water heater, GST, cost price.

Qm HewewT GOLBBlenw @ elwrurf &s7Hg BB Csemeu euflmuidF
Gairdal ap 10502 &H@ olImmri. HewieniT GHOLMBMUlET GnHHalemev, EUTHISIWL
alewev, FJ5G LBBID CFemeu euflenuid HT6wIS.

(@) The population of the village is 8000. Out of these 80% are literate
and of these literate people, 40% are women. 60% of total population are
men. Find the percentage of literate women to total women?

R HrmosHed o een  wHHeTOHTMS  8000. oeutweflss 80% - Guir
LRSHSHaTHeT.  LgsHdHauTseisd 40%  Gut  QueNidsT, LTSS  LDSHDHEN
ezTanaulsd 60% oewidel ealed GTHS GueBIdaled LIgHH OCLemiweleb
FHAIHID 66666 ?

(b) Varadhan Purchased a house for Rs. 17,75,000 and spent Rs. 1,25,000
on its interior decoration. He sold the house to make a profit of 50%.
Find the S.P. of the house.

aysHst @ eilewl ap 17,75,000 &g eummdsl em 1,25000 SH6 SiHs
ol emL  oevmETID QFudpTT. e oigmer 50%  @eomusdHed alBalmmT
aefled SIbS Qi el aliBBealensy 6i6ilal6ne]|?

In an examination the Percentage of Students qualified to the number of
students appeared from school A is 70%. In school B, the number of
students appeared is 20% more than the school A and the number of
students qualified form school B is 50% more than the student qualified
from school A what is the percentage of students qualified to the
number of students appeared from school B?

o Gaialed A eeip  ueelulled OQrHsid  alewiewiilgsanseieso  70%
HGHH o _emLwelTHel, B eeip ueTefuled Gomdhsid elewienilishsHearser A
aled alemrewiiissaismen ol 20% oiFHsb B uled sedwrearetssr A
aled  sHuraaismer ol 50%  oFsb el B aled
alewten IS alTdHeied B aled H@GHuwnaralssr eeialene] FHaisd?

If the price of sugar falls by 2% %, a person can buy 9 kg more of sugar

for Rs.1260 than before. If the price had risen by 12% % how much sugar

would he have bought for the same sum?
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Fridsemruier  alenev 2%% aFsfiugred o 1260 &g ey

amriFwumgal 9 HGoor SFHBOTE  aMhIS (PRIBH.  DiHIGe 12%%

aleeowimengdl SDIHBTEIML  HIBFH HUTUISE 6IaleIeTe| FTHEHMI UTHIS
BSuwiguib?

On selling a chair at 7% loss and a table at 17% gain, a man gains Rs.
296. If he sells the chair at 7% gain and the table at 12% gain, then he
gains Rs 400. The actual Price of the table is.

@b BIBaTedemw 7% mad SHeld, @ Goememw 17% Seorudsdsib,
AIBUSITL HAUBHEEG h 296 BeoruoTs Sl sHBH. DCH BHIBSTESemU
7% @eomusHeid Gwemmenw 12% SeomtusHHed aIBBTEL  SieUBHEE h
400 SevruioTs HewLSHMGH. elafled Goemeguiet 2 ienld aleney 6leaIaI6Te]?

15 Mark Questions

A book seller sells a book at a profit of 10%. If he had bought if at 4%

less and sold it for Rs. 6 more, he would have gained 18 % %. The cost

price of the book is

R UsssHms 10%  Beomus e  aIBamprt. o18%h uUsseHmH 4%
GOBHSH aMhES h 6 FHHOTE  aIBGHD QTSI 18%% SeuTuLD
HenLHFMH 616lle0, DbSH LHHBHH G MRS allenev 6leiren?

The value of a machine depreciates at 10% per year. If the present value
is Rs.1458000, what is the worth of the machine

a0 BubdArsdHear sBGumengws waly o 1458000. eeiQaumm SLeEIHHGLD
seelwhbHrsHear A 10% Gompdpal. eafled oealwpbHrHaHer wHI?

i. After three years
WA W BHEDSES (P
ii. Before three years

A T BSEDHEES L6

(@) A trader buys and article for Rs. 1200 and marks it 30% above the
C.P. He then sells it after allowing a discount of 20%. Find the S.P. and
Profit percent.

18 | Pa ge APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




19.

20.

[APP9 Lu]

STUDY CENTRE

@@  elBuemerutent e Oummener p 1200 &@ eummd DiHeMeT DI
aummidweleneoulelmbal 30% o wirdhgmdprTt o wisdw et 20% HeitenLig
DIeMESHBTT 6Tele0, SIS alBmalensy LOBBID EevTl FHIFHLD 6l6iTenT?

(b) The income of a Person is increased by 20% and then decreased by
20%. Find the change in his income.

@ pufler eumwrend 20% oFefssiuGapas e, 20%  GopBsosll
UGFBH. SlaufeT LTSS gBUBLD FHaisH TBBLD 6T6l6aI6Te 7

In a school of 4000 students, 50% know French, 75% know Tamil, and 12
% % know Hindi, 37% % know French and Tamil, 7% % know French and

Hindi, 5% know Tamil and Hindi and 1 % % of all three language.

o ueTeuled 4000 iomewieu Tewialsen o eftement. o0 S0% GumeE
0reha, 75% Gumeb&HsH SO, 12%% Cumee o Qgfuj. 37%%

CumeE LI6Teha LBHBID SLOLD, 7%% Cumd® anfibd BmID 116Feha, 5%

Cumd® SO wipd afps, 1 %% Cumdb@ BIb i@ GLomEErHD
05 MuyGioeiied  LieTalmeuaTaIMBeNM D  HT6wISH.

i. How many do not know any of the three languages?
epadl Qomfsend OFHflwnsHealTseler erewnrenlldbmas

ii. How many know at least one language?
GOBHSH @ GmPuimeug s fbHeuTselen elewremnidbemas

iii. How many know only two language?
@gewi(y GomfseT L B OFHfhHeuTserienr eevremnidhend?

On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper
gains Rs. 2000. But if he sells the T.V. at 10% gain and the fridge at 5%
loss, he gains Rs. 1500 on the transaction. Find the actual Price of T.V.
and the fridge.

R Oammevdst d  Guigemw 5% @eomusbIBSD, @b GefiTanseill
Gulgenw 10% @emusHBGD AIBUSTEL B SEHMI(HBGEH BIBT S6VTUD
2000 SewLsHmEH. om0 ST @b OpTemevdst gl Gl gew  10%
BTUSHBGD, @b GefiTansans Gulyenw 5% HOI SHIABSGD IBLSTED
oauflar Bar eomud qp 1500 SHen_sHBEHI aiaied, OFHTenevHHTL ST G 19
wBuId GelliTangeil Guliguiesr Flwmer aleneudamend SHTemIs.
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CEN
CHENNAI

PERCENTAGE (Previous Year Questions)

1. A man sold a house for Rs.4,000 and lost 20%. Find the cost price of
the house.
QAT @ afleml  5.4000-5@& ealBmaled 20% BLULIDMLBSHIT  6lefled
ST 1960T 2 _6TenLD AeM6Y BTG,

(GROUP 1, 2009, Section 1 Mark)

2. The population of a town is 80,000. If the population increases 20%

every year, find the population after 3 years.

QH BBISHHEN EHNMOHTeNE 80,000. 10H&H6T CHTend De0IBHHEG 20
FHAHD 2 UI(HLOTEIT6D, CLPSIBTeNI(HBHEHHS LT3t o _giter LO& 61T
OFHTMHMUW  H6uTHH (Hb.

(GROUP 1, 2009, Section 1 Mark)

3. A man sold two horses for Rs.990 each gaining 10% on the one and

losing 10% on the other. Find his total gain or loss and also its
percentage.
RHAT BT  GDHmIHenen  HOT H.990-5F alBmHe0, eeipsled 10
FHAIHD eUTLPLD LOBBHeL 10 FHIHWD BLL(PD DIDLHITT. DU
QTHs  OMUUPD  BILEVHI  BLLHMBUD  IHAT  FHAIHHMBHUILD
BH60T1hH (Hb.

(GROUP 1, 2009, Section 3 Mark)

4. A man buys oranges for Rs.x per dozen and sells them Rs. % per
orange. What is his profit in Rs. Per orange?

. . : : ) X .
QBT 1 L6t SJehd H.X HG QUTRIS OIHeneo 15 RH DT Eh
el aIBEHMIT. DIUHDBEG HLSHGWD BeoTud (ah.a160) @ DTEhFHE
6161161161T6)| ?

(GROUP 1, 2011, Section 1 Mark)

5. A man sells two wrist watches at Rs. 594 each. On one he gains 10%

and on the other he loses 10%. Find his gain or loss percent on the
whole.
BIewIB MBHBIBTIHIE6ET @elbleuTarenBuid h 594 &G @HeuT lBBTT.
Beiaumm  aiBpHed  @amiedo  10%  eomud  wBmgHed  10%  BLL (D
SHGHEG GBULL G QTHHHHO  DlaU[HHE 6IBULL  BeUTLID IV
BLL FHAIHMHS HTEIALD.

(GROUP 1, 2019, Section A, 10 Mark)
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6. Find the selling price (SP) if a profit of 5% is made on:
(a) a cycle of X 600 with I 50 as overhead charges
(b) a lawn mower bought at 1,250 with I100 as transportation
charges
(c) a fan bought for I650 and expenses of I 40 made on its repairs.
FpbHEBemWIL  QUTHL BEHSGEH D% OTUSHBG olBumer  alenevenuid

BT 5b.
©) @ OdHaemng I600 &G eaummslu’ G 50 OF7 CF6ve Her
QauwIrI Lmed

(@) @® U Qe @G Gums 1,250 eummisiii’ G 100 CUTSGHaTSHS
Qg6ve)] GFUIILILIL L G|.
®) o Wear aldp) I650 &@ eummislul (G 40 UIRSIUTTHSUILIL LS.
(DEO, 2019, Section A, 10 Mark)

7. An item costing Rs. 200 is being sold at 10% loss. If the price is
further reduced by 5%. What will be the selling price?
b 200 wHlgeten @ Gummer 10% mad HHev alBaiul L g Goeid
5% allemev GBHBILLLTE, OLIOUTHeT (aIBsiu’t) (o) olBp
allen6V 616316017
(GROUP 1, 2016, Section 3 Mark)

8. If the numerator of a fraction be increased by 15% and its

denominator be diminished by 8% the value of the fraction is %

Find the original fraction.
@ Ugienl ugdHular  oeney 15% oPsfsdng.  olgsh 8%
15

GOBHMBH 6160160, DIH6HT  LOFHLIL T oTelled  © ewTemLDUITeT  L16oT6nr

LGHIIMLIS  SHT6uTH.

(GROUP 1, 2016, Section 3 Mark)

9. The population of a town is 1,76,400. If it increases annually at 5%
what will be its population 2 years hence? What was it 2 years ago?
@ HEMeT 1bHHeT OFTensd 1,76,400. 915 5% SFHsNSHBEHI eTaiBIe0 2

DWIBH6T HPHHI HH6T CFHTensd 6laiierr? STewih SLeWINYBE  (LPevrL
DS BT OHTeND 616316017

(DEO, 2015, Section 3 Mark)
10. A man sold two horses for Rs.990 each gaining 10% on the one and

losing 10% on the other. Find his total gain or loss and also its
percentage.
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QBT B GHoIsmer ealbauTaiemBuld H.990 alBGwL CuUTIYS
gamlar  alemeouled 10% eomusmswd, WBOBTEE  alemevuisd  10%
BAZL HmHWD CUBISBIT 6leNed SeUT GUBID EEOTUD HIVEVGHI HOL LD
BEID DBl alSHHmIBMeNS SIS

(GROUP 1, 2015, Section 8 Mark)

The population of a town is 176400. If it increases annually at 5%.
What will be its population 2 years hence? What was it 2 years ago?
RH BEISHHE 0HH6T OHTend 176400. auBLSHHBG D% SiF@woTermen 2
QUHLMIH6T60 DSHH6T OHTemS  6lalelene]? @Tewi(h U(HLSHHMBG (HSTLTH
QRIBIRIOTN

(GROUP 1, 2016, Section 8 Mark)

If a number x is 10% less than another number y and y is 10% more

than 130, then find x.

x el etewr Yy ety etewienemt el 10% (GewmBSID, Y 61683 eTeuTemesT

Ay 130w o 10% oiHswrsad SmHbSHTe0, X-631 WHIL ST
(GROUP 1, 2017, Section 3 Mark)
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